Warm Up

90 + 30 + m«L = 180

ALMN = ACBA. Find each value. 120 + m«L = 180
mz«L = 60
7z + 6 =90 L
7z = 84
z=12
L o,- 12 2 ,_ 18 3 ma- 00
o n- 248 5. mec=_60° 6. AC = 24
AC =12 + 12
LN =2(18) — 12 msC = msL B
AC = 24
LN = 24 m«C = 60

(also, AC = LN)



Marking Congruent Triangles



Angle-Side-Angle (ASA)




Side-Angle-Side (SAS)




Side-Side-Side (SSS)




Angle-Angle-Side (AAS)




Hypotenuse-Leg (HL)




Does AAA work?

A O




Does AAA work? NO!




Does SSA work?

No!

There 1s no SSA In geometry!



Very Important

Other that the “given” information, you can only
mark three things:

1.Shared Side (Overlapping Side)
or a Shared Angle
2. Vertical Angles

3. Alternate Interior Angles (only if lines parallel).



Shared Side

statement

a—

Db

Y

DB

reason

Reflex.



Vertical Angles

statement reason

]
/ R6TZLHeT Vet L3S

v




Alternate Interior Angles (only if lines parallel)

statement reason

/6D | At Tut Ls




Decide whether the triangles are congruent. Explain

your reasoning.

u
)

SsSS
SAS

Yes, SAS As A
AAS

HL



Decide whether the triangles are congruent. Explain your reasoning.

SSS

ShS

7 K Ass
Yes, AAS AAS

HE

S J




Decide whether the triangles are congruent. Explain your reasoning.

GSS

X ShS

- p Yes, SAS A'S /1-
ARS

i L




Decide whether the triangles are congruent. Explain your reasoning.
S$SS
g SkS ¢
No, SSA doesn’t WA’@/]
W H—¢ Aﬂ— <
fL




Decide whether the triangles are congruent. Explain your reasoning.

\ Mf‘??ﬁ




How to Marl:

*  Angle Bisectors: "BD bisects ZABC"
i

1 n {

*  Segment Bisectors: "BD bisects AC "

"AC bisects ZBAD"

4

A\

n

" BD bisects AE" or " C bisects AE"

A }

n E



e Midpoints: "D is midpoint of AC" "Cis midpoint of BD"

A }

* Perpendicular Lines: "BD L AC"

I




¢+ Parallel Lines: "AB "E " *Remember: Parallel does NOT mean C‘ungru:ant,
but you can get congruent a I.I Int, l S




1. C bisects AE and BD 2. JA=/E. BC =DC
A D A D

i Pad

B E B

SS - :
Shi aBCc=AED C AABCEALDC

13— A AS

3. EHE,E;E 4. /B=.D. AB = ED

A . D y D
E :‘ ¢ : a(f)

B E B £
ABCA = A OCE acaB=A CED




5.

AC bisects ZBCD, BC =DC

ACAB = AC_A’D
555




7.  /BAC = /DAC. /B = /D 8.  AC bisects Z/BAD and ZBCD
A \.K,'@/., A W(.

&BCA;;M AABC EZMC
w A AD o ASH

9. BD 1 AC. D is midpoint of 4C 10. BD 1 AC, /A=/C
B B
| t -l
A \ D \ C A D C
aBaD=A BCD ABAD = A ACD

w SAS w AAS




11. BD bisects ZABC, B4 =BC

B

AADB = A CDB

w SAS

12.  BD bisects E, BA =BC

B

sapp=a CPB
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